VRUT DO DREVA DIN571, SESTIHRANNA HLAVA
WOOD SCREW DIN571, HEXAGON HEAD

Popis: Description:
Vlyuzivd se nejcastéji pri praci s dievotfiskou, drevem Ci It is used often when working with chipboard, wood
hmozdinkami. or wall plugs.
AN NN ~» 1
© W o)
B
SW LK L

0Obj. cislo Obj. cislo e K L W Baleni

Supply No. Supply No. Package

pozink/zincplated  nerez/ A2/ stainless (mm) (mm) (mm) (mm) (ks/pcs)
83005020 - *BAL* Vrut do dieva / *PACK* IWood screw / 5%20 mm DINS71 06xL 5 8,63 35 20 8 100
83005030 - *BAL* Virut do dreva / *PACK* Wood screw / 5x30 mm DINS71 06xL 5 8,63 35 30 8 100
83005040 - *BAL* Virut do dreva / *PACK* Wood screw / 5%40 mm DINS71 06xL 5 8,63 35 40 8 100
83005050 - *BAL* Vrut do dieva / *PACK* IWood screw / 5x50 mm DINS71 06xL 5 8,63 35 50 8 100
83005060 - *BAL* Vrut do dfeva / *PACK* Wood screw / 5%60 mm DINS71 06xL 5 8,63 35 60 8 100
83005070 - *BAL* Vrut do dfeva / *PACK* Wood screw / 5x70 mm DINS71 06xL 5 8,63 35 70 8 100
83006020 - *BAL* Vrut do dfeva / *PACK* Wood screw / 6x20 mm DIN571 06xL 6 10,89 40 20 10 100
83006030 - *BAL* Vrut do dfeva / *PACK* Wood screw / 6x30 mm DIN571 06xL 6 10,89 40 30 10 100
83006040 - *BAL* Virut do dfeva / *PACK* Wood screw / 6x40 mm DINS71 06xL 6 10,89 40 40 10 100
83006050 83006052 *BAL* Vrut do dieva / *PACK* Wood screw / 6x50 mm DINS71 06xL 6 10,89 40 50 10 100
83006060 83006062 *BAL* Vrut do dieva / *PACK* Wood screw / 6x60 mm DINS71 06xL 6 10,89 40 60 10 100
83006070 83006072 *BAL* Vrut do dfeva / *PACK* Wood screw / 6x70 mm DIN571 06xL 6 10,89 4,0 70 10 100
83006080 83006082 *BAL* Virut do dfeva / *PACK* Wood screw / 6x80 mm DINS71 06xL 6 10,89 40 80 10 100
83006090 83006092 *BAL* Virut do dfeva / *PACK* Wood screw / 6x90 mm DINS71 06xL 6 10,89 40 90 10 100
83006100 83006102 *BAL* Virut do deva / *PACK* Wood screw / 6x100 mm DIN571 06xL 6 10,89 40 100 10 100
83006120 83006122 *BAL* Vrut do dieva / *PACK* Wood screw / 6x120 mm DINS71 0,6xL 6 10,89 40 120 10 50
83006140 83006142 *BAL* Virut do dreva / *PACK* Wood screw / 6x140 mm DIN571 0,6xL 6 10,89 40 140 10 50
83008030 = *BAL* Vrut do dieva / *PACK* Wood screw / 8x30 mm DIN571 06xL 8 14,20 55 30 13 100
83008040 - *BAL* Virut do dreva / *PACK* Wood screw / 8x40 mm DINS71 06xL 8 14,20 55 40 13 100
83008050 83008052 *BAL* Vrut do dreva / *PACK* Wood screw / 8x50 mm DINS71 0,6xL 8 14,20 55 50 13 100
83008060 83008062 *BAL* Vrut do dreva / *PACK* Wood screw / 8x60 mm DINS71 06xL 8 14,20 55 60 13 100
83008070 83008072 *BAL* Vrut do dfeva / *PACK* Wood screw / 8x70 mm DINS71 06xL 8 14,20 55 70 13 100
83008080 83008082 *BAL* Vrut do dieva / *PACK* Wood screw / 8x80 mm DINS71 06xL 8 14,20 55 80 13 100
83008090 83008092 *BAL* Vrut do dieva / *PACK* IWood screw / 8x90 mm DINS71 06xL 8 14,20 55 90 13 100
83008100 83008102 *BAL* Vrut do dieva / *PACK* Wood screw / 8100 mm DINS71 06xL 8 14,20 55 100 13 100
83008110 *BAL* Vrut do dieva / *PACK* Wood screw / 8x110 mm DINS71 06xL 8 14,20 55 110 13 50
83008120 83008122 *BAL* Virut do dreva / *PACK* Wood screw / 8x120 mm DIN571 06xL 8 14,20 55 120 13 50
83008130 83008132 *BAL* Vrut do dfeva / *PACK* Wood screw / 8x130 mm DINS71 06xL 8 14,0 55 130 13 50
83008140 83008142 *BAL* Virut do dfeva / *PACK* Wood screw / 8x140 mm DINS71 06xL 8 14,0 55 140 13 50
83008150 - *BAL* Virut do deva / *PACK* Wood screw / 8x150 mm DIN571 06xL 8 14,0 55 150 13 50
83008160 = *BAL* Vrut do dreva / *PACK™ Wood screw / 8x160 mm DINS71 06xL 8 14,20 55 160 13 50
83010050 83010052 Vrut do dreva / Wood screw / 10x50 mm DINS71 06xL 10 18,72 70 50 17 100
83010060 83010062 Vrut do dreva / Wood screw / 10x60 mm DINS71 06xL 10 18,72 70 60 17 100
83010070 83010072 Vrut do dieva / Wood screw / 10x70 mm DIN571 06xL 10 18,72 70 70 17 100
83010080 83010082 Vrut do dieva / Wood screw / 10x80 mm DIN571 06xL 10 18,72 70 80 17 100
83010090 83010092 Virut do dreva / Wood screw / 10x90 mm DINS71 06xL 10 18,72 70 90 17 100
83010100 83010102 Vrut do dfeva / Wood screw / 10x100 mm DINS71 06xL 10 18,72 70 100 17 100
83010120 83010122 Vrut do dreva / Wood screw / 10x120 mm DINS71 06xL 10 18,72 70 120 17 50
83010130 - Vrut do dreva / Wood screw / 10x130 mm DINS71 06xL 10 18,72 70 130 17 50
83010140 = Vrut do dreva / Wood screw / 10x140 mm DINS71 06xL 10 18,72 70 140 17 50
83010150 - Vrut do dfeva / Wood screw / 10x150 mm DIN571 06xL 10 18,72 70 150 17 50
83010160 - Vrut do dfeva / Wood screw / 10x160 mm DIN571 06xL 10 18,72 70 160 17 50
83010180 - Vrut do dreva / Wood screw / 10x180 mm DINS71 06xL 10 18,72 70 180 17 50
83010200 - Vrut do dreva / Wood screw / 10x200 mm DINS71 06xL 10 18,72 70 200 17 50
83010300 = Vrut do dreva / Wood screw / 10x300 mm DINS71 06xL 10 18,72 7,0 300 17 25

*BAL*/*PACK* - polozky proddvany pouze dle uvedeného baleni. Mimo balenf (¢tovéno rozbalné. / ltems sold only in the specified packaging. Selling outside of the packaging is subject to an unpacking charge.

140 &3 1420596 243819 /826 www.konarik.cz obchod@konarik.cz




